GRADE 12 ADVANCED

Quick revision.

Chapter 3
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1. Which of the following must be true if:
limf(x) =L,

Where L is a real numbrt

@ f'(a)exists B8>9>90

f(x)is continuous atx = a

m a“ -
© f(x) isdefined atx = a
@ f@=L
@© None of these

2. What is the average rate of change of

y=x*/x3+1 on [0,2]

26
® 3

@ © @ ©

13) Beaseio 0950 O om b bee 1 -1
limf(x) =L,
x—a

oo 09) 98 L Cu>

il Juan lawgin g b -2

y=x*/x3+1 on [0,2]
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Chapter 3

3. For the given function:

f(x) = x* + 2x,
wich of the following represents f'(x)?

@

® @

©)

o (x*+2x+h) — (2% + 2x)
lim
h-0 h

 ((x+h)?+2(x+ h) + (&% + 2x)
lim

h—-0 h

. (x*+2x+h) — (2% + 2x)
lim
h-x h

((x + h)?2 +2(x+ h)) — (x* + 2x)

h

 ((x+h)?+2(x+ h) — (x* + 2x)
lim

h—0 h

4. For the given function

Int
gt = ot

Find g'(t)

©

@ © @ ©
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1—-Int
et

tint—1

tet
1—-tint
tet

1—-tiInt

et

1—elInt

eZt

Final Revision Chapters

duan U1V -3
f(x) = x* + 2x,
Cf ()i b e
duae AW -4
Int
gt = ot
g’ (t) 4=y
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5. For the given function duzo AW -5

f(x) = x3—x2+;, flx) = x3—x2+%,
Find f"(2) F7(2) azsl
31

4

41
4
39
4

79
8
81
8

@ © © ©

6. The given function is continuous and QLA ALy dlaie Blasell AWl -6
differentiable for all real numbers, Find bsm ‘5w§ A9l ¢ dududsel SlusY &
the values of mand b

_(4—-x* if x<1 fx) =
f(x)_{mx+ b if x>1 {

4—x* if x<1
mx + b if x>1

@ m=2,b=1

® m=2b=5

© m=-2,b=1

@ m=-2b=5

©  Noneof the avove Ll>ix>gY
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7. Given the graph of f(x). f ()3 Q! eyt Jf yasdls -7
Which graph represents f'(x) f(x) Jioe Qe oy
f(x)
@ -
b
@ § A .
© ¢
@ d
@ e £'(x) £
8. Find the instantaneous rate of change olasnedl &I  Jasell pscdl Juze do>gf -8

of the given function at the given point f(xX)=(x*-2)(x®—2x) at x=2
f(x)=(x*-2)(x3—2x) at x =2

12

30

16

42

36

®
®
®
@
®
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9. Given the graph of f(x). [ ()3 bl eyt ] Hl2IL -9
Which graph represents f'(x) f(x) Jioe Qe oy
f(x)
. ! J'\
B u/ 0 v,
®
@ C —7‘»\ '(x) T By r'ix) .
<
”I'\ 7, Ta e -
@ » |
x 'x) ' - ri !
©® E
) - « :
“]
= (x) I
10. Find 4z91-10
lir%l(x csSCXx) lir%l(x cscx)
@ 1
©® -
©
@ -1
©® o
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11. which of the following statements must be true ? Ol Cuale 13111,
1. f is continuous at x = 2 1imf(2 +h) - fQ) -5

2. f is differentiable at x = 2

3. f'(2) = 5 Given that
i f2+h)—-f(2)
1m

1 only

2 only

®©® ©® ©@06 ®

12. Given the graph of f'(x).
Which graph represents f(x)

@ 4
® B
© c
@ D
® -

@ Mohamed Taha 0566151988

h—0 h
awuﬂ A1 Clylealt gs‘i
x = 2 de daio f 0951 .
x = 2 % f Glandl Ses2 .

1 and 2 only

2 and 3 only

1,2,and 3

h f'(2) =5 .3

lasd 9
Lasd 2
Lid 1 2

Lid 2 3

391,2

()3 Gl o Jf Sl -12
f () Jie g oy S

f'(x)
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13. Find
L 1—cosx
xl—I>I(} 2sin?x

@ o
@ 1
8
@ 1
4
@ 1
© Doesnotexist 539290 A&
14.Which of the following statements is
true about
_(x+2 ifx<3
f(x)_{4-x—7 if x>3

1. lim,_; f(x) exist
2. f(x)is continuous at x =3
3. f(x)isdifferentable at x = 3

Final Revision Chapters

:&3?-13
I 1—cosx
xl—l>1(} 2sin%x
x+2 ifx<3 : .
= I Caade 1) -
f(x) {4x—7 if x>3 © °-14

A1l 0da o guase muome W Clylad! (S
33 galim, 3 f(x).1
x = 3 e dlaia f(x).2
x = 3 Y GEE L6 f(x) .3

@ 1only L 1

® 2only Lid 2

land 2 only L3 1,2

@ 1,2,and3 351,2

©® None alazgY
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15. Find : dergl -15
d 2 d 2
- Inx . Inx
dx [xe™ ] dx [xe™™ ]
@ 1+2x
©® x+a2
©
@ 3x2
© x2+x3
16. The value of AED 1000 investment doubles every year, 1000 )L&ﬁ-«uﬁ" dold elais -16
it's value after t years is given by . . .f
v(t) = 1000(2)" i g T da LgieBg ¢ ple S oy
Find the relative raye of chang of thw vale v(t) = 1000(2)¢

i1yl gl i) (gueidd] Jukaall dzf

N

In (2)

1000

1000(2)2

@ ® © © ®

1000(2)¢ In(2)
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17. The velocity (in m/s) of a moving &yzeie g (& / p) dsudl slas| oy -17
particle at time t (in seconds) is given by (3ls4L) t Cdgll S
v(t) = 5e % + 4 v(t) = 5e % + 4

Find the acceleration at t = 0.6s . .
t=0.65 L dlxall u>9l

m

@ 5.506 p
m
® -3.012 =
© 4.147 m

@ 102
®

18.Given: D Cole 13]-18
x% + 2xy = y? x*+2xy=y
dy dy

Find dx Ix

@ 2x + 2y

xX+y
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19. At what point the tangent line to the sl oloadl Jas 950 dlads T (3-19
graph of f(x) is parallel to the line: 2x —4y = 3::laslbilge f (x)J 3!

2x —4y =3

@ @ © ©§ ©

1,

2,

1
1 y=f(x)=zx2
y=f(x)=§x2

20- Give that Cuols 131 -20

Q@@»@@@

_dy
Find a

2x 2x

x?*(1 + Inx)

x**(2 — Inx)

2x%*(1 + Inx)

2x2*(1 — Inx)

x%*(x + 2Inx)
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21- Find

s a9l -21

= /) = /)

@ © 0 &, ©®
I

22- which of the following functions is QLA AL ue 4l Jlgud! (pe ‘:;i -22
not differentiableat x = 2/3 ? Sx = 2/3 %s
fx) = Vx— 2,9(x) = |3x—2|,h(x) = |9x2 - 4| fx) = Yx—2,g(x) = |3x—2|,h(x) = |9x% — 4|

@ f(x)only s

g(x)only Lazs
f(x) and g(x) only
L

g(x) and h(x) only
9 Jadd

@ & © ©

f(x) and h(x) only
3 Jadd
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23- Given that Ol Caals 13] -23
x* —y? =25 x* —y* =25
., d’x d*x i
Find : p) W@J
@ 3
5
© 5
xZ
© -5
25
@) -5
4
© 5
24- Given e -24
f(x) = sin (e™) f(x) = sin (e™)
Find : f'(x) Find : f'(x)
@ —cos(e™¥)
® cos(e™®+ e *
© cos(e ) —e*
@ e *cos(e™)
©® -e“*cos(e™)
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25-Which of the following is an equation ovleoll s dslas g2 b oo L“s? -25
of the tangent line to the graph of J Q! il
f(x) = x3 — 3x? f(x) = x3 — 3x?
at the point where f'(x) = -3 f(x) = —3 daidl s

@ y=2x-3
@ y=-3x+1
@ y=-3x+4
@ y=x-3
© y=-2x+4
26- Given Ol Gl 13] -26
y = sin (cos~1x?). y = sin (cos 1x?)

dy dy .
Find : — —~ aal

dx dx ?
® 2x3

V1—x*

2x cos(cos™12x
© -

V1—x*

2x cos(cos™1x?)

© - 1—x*
2x
coS(—
Q@ st 7=
2x cos(cos™1x?)

© 1— x2
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27.given that g(x) is the inverse f(x)Jdwss dIs 2 g (x) Ol Caals 13] -27
function of f(x) fx)= x> +2x3 -1
fx)= x> +2x3 -1 1 g'(2)2 s
Find : g'(2)

28.Find all the points at which the s e 04 ‘5J| bl x> >l -28
tangent line to the curve is: ELIPTXTVER ESWNURWIN]
vertical or horizontal 1

1 y = x3

y = x§
Vertical tan gent at x = % Horizontal tan gent atx =1
=l S
Vertical tan gent at x =0
i

Vertical tan gent at x = 0 Horizontal tan gent at x = g

wt

u“"iJ ‘_’A&\
Horizontal tan gent atx =0

L]

Vertical tan gent at x = —1 Horizontal tan gent atx =1

@ ©® © 8 ®

-

=l L]
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29.Find the derivative of ddiénall a9l -29
f(x) = In(tanx) f(x) = In(/tanx)
1
@ 3 sec3x
® sec’x
2vVtan x
sin x
© 2 cos3x
1
@ sin 2x
sec’x
© tan x
30-Use implicit differentiation to didiinadl sy (sl BLYI pusins! -30
find the first derivative J9VI
x3+3x'y =4y* -9 x3+3x'y =4y%2 -9

_3x% +12x%y + 3x7

!

@ y &
® y-= %

© 2w

B e
® - 4x% —9 — x3

3x*
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